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$ ruby calcp.rb
? -2A(3M4)
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case str CCIS. XFHABT
when /¥A¥s+/ / BN A A DT
when

EAND
@q.push [:NUMBER,[ |
when /¥A¥d+/
@q.push [:NUMBER, $&.to_i]
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@ push AYyREFERALT, BEIICERZEBMTEHILN
TZE5, irb(main):001:0> a = [1,2,3,4]
=>1[1,2,3,4]
irb(main):002:0> a.push(10)
=>[1, 2, 3,4, 10]
irb(main):003:0>
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irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>[1,2,3,4]
irb(main):005:0>
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° irb(main):001:0> h = Hash::new

=>{}
irb(main):002:0> h['apple'] = 150
=> 150

irb(main):003:0> h['banana'] = 200
=> 200

irb(main):004:0> h['lemon'] = 300
=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}
irb(main):006:0> h['apple']

=> 150

irb(main):007:0>




